
Model development log 

 

#use 30 years quarterly -- Quarterly  Jan 1983 –Dec 2012] 

#read in data as “qdata” 

require(forecast) 

require(lmtest) 

require(tseries) 

 

# Goldfeld-Quandt test for homoscedasticity 

gqtest(qdata~1) 

 

 Goldfeld-Quandt test 

 

data:  qdata ~ 1 

GQ = 6.7475, df1 = 59, df2 = 59, p-value = 3.959e-12 

 

# choose to log transform the data 

lq = log(qdata)  

adf.test(lq) 

 

 Augmented Dickey-Fuller Test 

 

data:  lq 

Dickey-Fuller = -3.9467, Lag order = 4, p-value = 

0.01422 

alternative hypothesis: stationary 

 



# auto.arima runs an automatic selection process by minimizing AIC/BIC/AICC 
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qqnorm(naic.model$residuals); qqline(naic.mode1$residuals) # graphical test 

for normality 

 

 

#because of residual fat tails, can’


